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QUESTION 1

The customer has configured a file pool policy on their OneFS 7.0 cluster to place files over 30 days old in the archive
tier with a file protection of N+3. The customer attempts to verify the file location and protection setting on a file
matching the file pool policy criteria using the isi get -DD command. The file is located on the performance tier and has a
requested protection setting of N+2:1. 

What is the most likely cause of the issue? 

A. The order of the file pool policies 

B. The default policy overrides the file pool policy 

C. The AutoBalance job is paused 

D. The FlexProtect job failed to complete 

Correct Answer: A 

 

QUESTION 2

What is the expected displayed output after running "isi devices -d 3"? 

A. Displays the bay, Lnum, da, Serial number, and health status for each drive in node 3. 

B. Displays the individual detailed status information for drive 3 on each node in the cluster 

C. Displays the individual detailed status information for drive 3 on the node you are connected to 

D. Displays the drive controller status and individual drive connectivity status for node 3 

Correct Answer: A 

 

QUESTION 3

You are looking at a cluster event which has an Ancestry of 1.215 and a Instance ID of 1.260. What fact about the event
can be derived from this information? 

A. 1.260 is a coalesced event 

B. The event is from the Node Status category 

C. Event 1.215 was quieted, which triggered event 1.260 

D. Event 1.215 has been canceled 

Correct Answer: A 

 

QUESTION 4
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How long does the Log Processor retain a backup of log information in the archive directory? 

A. 14 days 

B. 48 hours 

C. 1 week 

D. 1 month 

Correct Answer: A 

 

QUESTION 5

A customer has an Isilon cluster with a substantial video editing workload. They ask you how they can create a custom
job to archive older data to NL nodes. 

What should be your response? 

A. Custom jobs cannot be created. Implement a SmartPools file policy. 

B. Work with Professional Services to implement a custom job. 

C. The job engine can be custom programmed in python. 

D. Schedule AutoBalance to run more frequently. 

Correct Answer: A 
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